SOOO. Ge\/ PP

Ratio to ATLAS

I T | T I T I T I T I T | T I T I 4(2

c

B Jet Charge RMS (k=0.7, central, fj] < 2.1) %

0.8 — x

n B ATLAS =

| --3-- Herwig 7.2.0 default N

| —a— Pythia 8.176 default <

----- ¢ Sherpa 2.1.1 default ™

0.6 — netp 2

I =

| | 1Z

0.4 — —_

O

1M

&

] | | u o

o

-1 m

i

>

.8,

| <

©

[

18

Y2

©

| -1 o

(@)

| | | | | | | | | | | | | | | £
: T T T T | T T T T | T T T |:

2 & =42
1 1
05 —0.5
M 1 H | M 1 1 1 1 M | M 1 1 1 M |
0 500 1000 1500



	Contents
	Page 1


